Battlefield Britain: The Spanish Armada

Key Question: Why did the English 

defeat the Spanish Armada?

1. Spain is described as the …………………………   ……………………………… the world had ever seen.

2. For Spain the Armada was a religious crusade against …………………… and …………………………

3. In Flanders Spain had ………………… men fighting Dutch protestant rebels helped by the English.

4. Philip of Spain had to transport ………………… men over ………… miles and then launch an invasion. 

5. His plan was to join these 2 forces and then ………………………………………

6. In what ways was the Duke of Medina Sidonia unsuitable for leading the Armada?

…………………………………………………………………………………………………………………………  ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

7. Spain had altogether ………… ships, ………… sailors and ………… soldiers. 

8. The Armada was first spotted on …………………

9. The English flagship was ……………………………… commanded by Admiral ………………  ……………………

10. What were his leadership qualities?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

11. His second in command was ……………………………………… and his qualities were as follows: …………………………………………………………………………………………

…………………………………………………………………………………………………………………………

12. What were they doing in Plymouth when the Armada came in to view and why ? ……………………………………………………………………………………………

…………………………………………………………………………………………………………………………

13. What was the Armada’s first big mistake?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

14. Why was it so hard for the English ships to get behind the Spanish ships? …………………………………………………………………………………………………………… 

15. What was the advantage when they got there? …………………………………

…………………………………………………………………………………………………………………………

16. The tactics of the two navies differed: the Spanish liked to  ………………………………………………………………………………………………………………………… The English ……………………………………………………………………………………………………

17. Formations were also different: 

· the Spanish sailed like this:

· the English sailed like this: 

18. Explain the outcome of the first battle: ………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………

19. What did Drake then do that wasn’t so clever? …………………………………

…………………………………………………………………………………………………………………………

20. Their ship designs also differed: Spanish ships were ……………………… 

…………………………………………………………………………………………………………………………

English ships were: ………………………………………………………………………………………

20. On August 2nd a second battle was fought off ……………………………… which was again inconclusive.

21. What was the significance of the Isle of Wight? ……………………………

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

22. What problem did the Duke of Medina Sidonia and the Duke of Parma (commanding the Spanish army in the Netherlands) have? 

………………………………………………………………………………… and the army needed ……………………… to get ready.

23. On August 7th Howe and Drake agreed on a plan. What was it?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

24. What was the effect on the Armada?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

25. What problems faced the Spanish at the Battle of Gravelines?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

26. What happened next?

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

